EAGRAROBREERT — 2 N— IBISH —F

202155828 (B) 2m%=4H

mlﬁ%ﬁﬂﬂ 2B X Yo5%4mkE GRS N> F \ (Xfg] B \ [REmshE]  — |2 (B) 24000 B
[A&4] 1 7% 15,000,000 § 2 7% :6,000,000 § 33 :3,800,000 4 7% :2,300,000 5 & :1,500,000 M
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S tAE . _77_ B §
i AARTEFF R i 4 ?E_E(HFE 2.(2_4).9 7-7-7-10 | 34.4|101.3| 4 :1_322) %iggﬂ (€35
LNn—ErTv— B:ITy b ZE AN
> 5 # o4 | M. FL-—H 2:25.1 11-11-9-8 | 34.7 | 9.2 | 5 466 | EAKZR (i)
2l7lg|¥MxNIOXTR 56.0 (1 1/2) o) | WR H5TLYRIST - 5T4T
L:d—IRYy T B:hoRIETY EvJILy RT7—L
. o HIDEE : —4-4- HEZR (8
31811 R—LZEY vy b 4 6 547.—0 2(/%57‘_; 3-4-4-3 [35.0| 99.3 | 9 <5+026) %é#%
R:F1—-TTVI>F7 BT —-TAT1v7 it R
. KEFRIR : -8-7- HRED ()
4l5|5|TF/7zU—Fz [B] B4 2 (21.215/.23) 9-8-7-8 |34.9| 97.1 | 3 (4:1; AL
L:d—IWRIy T B4V ELRXT b II75TT—L4
4 fo 5 | BEE 2:25. 9-10-11-1134.6 | 97.1 | 11 | 396 |MEEEE (RF) _
51719 52.0 (7E) (+6) HimRockRacing&—J7
RRY—bLYvy—Z— B:ZXFIZR ZNET7— L
= sy EAEHE :25. -8-9- . . NEKZ (El)
6 61791V r— i 5 L 2(725t> 8-8-9-6 |35.1| 96.1 | 2 (4_3‘;4) Lin
R:N—E>Tv— B:STT7IFa7)— HET77—L
S = 5 | SEKH 2:25.4 5-5-4-5 |35.2| 96.2 | 8 486 | BWIIEE (Em)
7011 | ¥TRIVATL—I [B] * 54.0 6 o | B ¥5ILy k575747
LTI RATLE— B:vAxl—Fz EvJdLy RT7—L4
N FiBlE : —6-6- EET (El)
N - R PE o4 2 2(7251:) 5-6-6-6 |35.2| 95.1 | 7 (4322) Kﬂ%ﬁﬂé%
RiNn—E>Tv— BT HFrTq J =% Ty — L
- =t RERE 125. 00— . . FER (ER)
o 7| 57yx- 5 25 2(12/52)6 2-2-2-2 | 35.7] 94.3 | 10 ?8;) v
R h—y B:TaF4vT HESMH EVRU—K—ZF2F
3. = Ho4 | SHER 2:25.7 3-3-3-3 |35.6| 93.2 | 1 496 | FRERE (ER)
10/8l10| SYF—XATF 56.0 (3/4) ) |FEAOE
RWN—5—2y T BATA-USH J—HrTr—LA
= . § o5 | AEEHR 2:26.6 1-1-1-1 | 36.7| 85.1 | 6 438 | EiERE ()
12 77v71—X7T 51.0 (5) 6 | B 7¥75-Tr-14
R:FHYTTLRE BAAVELRET b 799577 — I
@ 21 L
£ 47.1-35.0
NA>ZA L | 12.6-10.9-11.8-12.1-12.4-12.6-12.9-12.5-12.1-11.3-11.4-12.3
® 1—F—@EBIERL
1T=7r= 2=7(10,11) (1,3)4-6-(5,9)-8
2a=5F= 2=7,10,11,1,3,4-(5,6)9-8
§a=7r= 2-7,10(1,11)3(5,4) (6,8)9
ASl=5F= (¥2,7) (10,11)1(3,6) (5,8)4,9
[ RN
B R 4 690M 714K 4-8 1,200M e 4-7 3,300 JEE 4-8-11 23,720
B B 4 200H 4-11 2,650 B = 4-8 3,740H K3C:-] 4-8-11 112,350
8 300H 8-11 3,110 B H 4-8 6,550
1 700M

ARICOVWTRDTEEERROODE. TR LIV,




